SPARE PARTS & ACCESSORIES

Ah6
. AG Ah6
o
=
=l f T 7
T ’ I I ;
Bk6
5 BK6
BK6
Size A B L H h h1 D d
Code No.
[mm]
7-297-1210 12/10 12 10 20 12 35 5.7 8.9 55
7-297-1212 12/12 12 12 20 12 35 57 89 55
7-297-1214 12/14 12 14 20 12 35 57 89 55
7-297-1216 12/16 12 16 20 12 35 57 89 55
7-297-1218 12/18 12 18 20 12 35 57 89 55
7-297-1220 12/20 12 20 20 12 35 57 89 55
7-297-1812 18/12 18 12 25 12 45 6.8 104 6.6
7-297-1814 18/14 18 14 25 12 45 6.8 104 6.6
7-297-1816 18/16 18 16 25 12 4.5 6.8 104 6.6
7-297-1818 18/18 18 18 25 12 45 6.8 104 6.6
7-297-1820 18/20 18 20 25 12 45 6.8 104 6.6
7-297-1822 18/22 18 22 25 12 45 6.8 104 6.6
7-297-2012 20/12 20 12 25 12 45 6.8 104 6.6
7-297-2014 20/14 20 14 25 12 45 6.8 104 6.6
7-297-2016 20/16 20 16 25 12 45 6.8 104 6.6
7-297-2018 20/18 20 18 25 12 45 6.8 104 6.6
7-297-2020 20/20 20 20 25 12 45 6.8 104 6.6
— _ | [Nl |
| | ‘J‘g [Nl |
— T I T |
| | — - | | [| I [Nl [ I |
i i i J I i 1 @ I
; o | |
s I e ]
i — . = l l
ZTN t !
For] Y . T N ”’%"”””‘JFH’””’{’}”" - f u‘m‘u T
N . Nosia @ |- Nosia B
i + é“ 2“& > Y
| 1 1 = T !
‘ I 1 [Nl | ]
L G I Y I
L2 ¥ 1
| |4 =] |4 = I f =i ! !
L3 \
©) ©)
L1 L2 13 L4 D M ©
Coupler = =
[mm]
M10x35 46 35 35 10 16 M10x35-10.9
M10x85 46 35 35 10 16 M10x85-10.9 Fig. 1 Fig. 2
For Type
M10x45 54 40 35 10 16 M10x45-10.9 Coupler Code No. Coupler Code No.
M10x105 54 40 35 10 16 M10x105-10.9 6820-100-320/160 M10x35 7-298-104 M10x85 7-298-204
M12x55 62 40 43 12 18 M12x55-10.9 6820-125-335/160 M10x45 7-298-105 M10x105 7-298-205
M12x130 62 40 43 12 18 M12x130-10.9 6820-150-425/205 M12x55 7-298-106 M12x130 7-298-206

282 www.bison-america.com « e-mail: info@bison-america.com



